X? LA MULTIPLICATION

- Les tables de multiplication (os)

«0» «1n «2n» «3n
Ox0= Ox1=._ Ox2=.. Ox3=
1x0= Ix1=. Ix2=. I x3=
2x0= 2x1=_. 2X2= . 2x3=
3x0= 3x1=_. 3X2=.. 3x3=
4x0= 4x1=._ 4x2= 4x3= ..
5x0= S5x1=. 5x2= ... 5x3= ...
6x0 = 6x1=. 6X2= .. 6X3= ...
7x0= /x1=. 7X2=... 7X3=...
8x0= 8x1=_ 8x2=... 8x3=...
9x0= 9x1=. 9x2=... 9x3=...
10x0= 10x 1= ... 10x2= .. 10x3=..
«4mn «5» «Wé» «7»
Ox4-= Ox5= Oxé= Ox7=

1 x4= Ix5= Ix6= Ix7=
2x4= 2x5= .. 2x6= .. 2X7= ..
3Xx4= .. 3x5= .. 3xb6= . 3X7= ..
4x4= . 4x5= . 4xb6= ... 4xX7 = ..
5x4= . S5x5=... S5xé6=... S5x7=...
6X4= .. 6x5= ... 6Xb6= .. 6X7 = ..
/7 X4= .. /xX5= .. /X6= . /X7 = ..
8x4=. 8x5= . 8x6= .. 8x7=..
9x4=.. 9x5= . O9xé6=... OX7=..
10x4= ... 10x5= ... 1I0x6=.. 1I0x7=..
«8»n «9» «10» «11»
Ox8= Ox9= Ox10=.. Ox11=.
1 x8= 1x9= Ix10= .. Ix11=_..
2Xx8= .. 2X9= .. 2x10= ... 2x11 =
3x8= .. 3IX9= ... 3x10= ... 3x11 =
4x8= . 4x9= . 4x10= .. 4x11=...
5x8=.. 5x9= .. 5x10= ... Sx11=...
6X8=... 6X9= ... 6x10= ... 6x11=...
/7X8=... 7/7X9= ... /7x10= .. /x11 =
8x8= .. 8x9=. 8x10= ... 8x11=...
9x8=... 9x9= .. 9x10= ... 9x11 =
10x8=.. 10x9= ... 10x10= .. 10x11=_...




